Question Paper for the post of Chemical & Metallurgical Assistant in Level-6 of DPO/SECR
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General Instructions:

Total 110 questions are there in this question paper. Answer any 100 questions. Each
question carries 1 mark. If more than 100 questions are attempted, then only first 100 will
be evaluated.1/3™ mark for each question will be deducted for each wrong answer. Cutting,
overwriting, erasing or any type of alteration in the answer will not be accepted. Zero
marks will be given for answers having any correction/alteration/overwriting. In case of
any difference, English version of question paper will be considered final.

eferied & & e foeae & TeadTese a8yl Fil ST Tga T S 99l §
Galvanized materials can be identified by dipping in which of the following solution
a. 1.2HNO3

b. H2SO4

c. CuSO4
d

. TAH ¥ Fs d81/None of these
et & & 19 are ferews &1 197 T a2

Which one of the following will turn red litmus to blue?
a. TOTHT/ Vinegar
b. i FT TH/Lemon juice
c. ITeT |TST T =Te/Baking soda solution
d. ofta= T=/Soft drinks

TTRTE STFA T TETIAF G g---

The chemical formula of acetic acidis

a. (HCOOH)2
b. CH3COOH
c. CH2COOH




d. =9 | FIE A51/None of these

. T Ferar arer gefie # W AT T aie AT AL ST AH 7

The load &size of standard steel ball used in Brinell Hardness Testing machine is
a. 300Kg,Imm

b. 300Kg,5mm

c. 300Kg,10mm

d. 3000Kg,10mm

. ©T T FSTAT &l ATA 6 o0 Fl= ST FHSear Trevr afer SSeom &l Tgars &
ST FHLAT g2

Which of the hardness testing method uses depth of indentation for measuring
hardness of metal?

a. fad/Vickers
b. To=</Brinell

c. TFaaRockwell
d. emET/Shore D

. g THAT & FIATFAF TLEAT F oM ZH —ommmmmee T ITANT F3d &

For magna flux testing of ferrous samples we use----------

a. ¥aa9¢/Developer

b. TTFHaH/Yoke magnet
c. TfFHET/Ammeter

d. aTeeHteT/Voltmeter

. FATAAS ST T ITHLIT FT AN 7T 1T
Cleveland Open Cup apparatus is used for

a. Faf=aTge/Viscosity

b. TAereATEe/Flashpoint

c. TTEIeH¥AT/Titration

d. aTfi=ToT/Evaporation

I EN I Tk £ o — SYFHLIT T ITANT & 6 (o707 AT Bl

Oil samples in the locos are drawn by using------ apparatus.

a. sq</Burette

b. T&RS/Syringe

c. fAER T/ Viscometer

d. =AW | FIE A51/None of them

R - T | [ | (— IYFHLUT & TR H 6T SATAT 2

Viscosity of paint is carried out by using-----apparatus.
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12.
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14.

15.

. e/ Viscometer
. ﬁﬁ@jﬁ?{Penetrometer
wrewq/Ford Cup

. TARgEEAg/None of them

oo o

CIE I CA: I [ — FETH STAT ATAT

Coolant is added in loco water as

a. AEgHUUSiE/Blending Agent
giHersTa< e/ Tarnish Inhibitor
FgaaTE/Binding Material
SATsTELTee/Corrosion Inhibitor

Ao o

TS AT § qTAT o FHOTT o[ HIS[EVT T Il

a. SMRATHTIT/Hygrometer
b. ZFIerad/Electrolysis
c. TITAEF/Air oven

d. TIFTHTEY/Spectrometer

UFe e ]:1 BIESIFATE TS JATH o forT fohae qTT T siraeThdT 2idT 2l

How much of water is required to make one litre of 1:1Hydrochloric Acid.

500 ml
250 ml
1000ml
100 ml

e op

a7t & T fafere Eee - AT g

Specific gravity of water is-------
a. 1.5

b. 10
c. 2
d

L — FT T gz
Bronze is an alloy of

a. Cu& Zn

b. Cu & Sn

c. Cu&Al

d. Cu&Fe

DPT e 9rgia & dgd 19 &#ar g
DPT works under the principle of

ST TITIT ST Johdl %
The presence of water particles in engine oil can be detected by using



17.

18.

19.

20.

. AT IHT0T/Magnetisation
. fafeor/Radiation

. FfUerIfRaT/Capillary action
. TAHHHEHIAa1/None of them

o o o e

Only liquid metal at room temperature is-------

a. HI=TA/Sodium
. Ffil%l/lron

b
c. 9TX/Mercury
d

. T a9/ Aluminum

Refertad 5 | i 77 &7 el 82
Which of the following is not an alloy?
a. TE/Steel

b. dtaT/Copper

c. HId<1/Brass
d

. F1e/Bronze

FIHATIT & ZH STTNT BT ST Tl TATHA AL e/

Glassware used during titration is/are
a. fo92/Pipette

b. sI¥/Burette
c. TIieeMi/Botha & b
d

. Tefiea e iAas1/Neither a nor b

EEEI R ECA Rl s pg— H STTere 1 SATAT &, qT STUH A1 T [ASH 1o HAT

DM plant has to be regenerated,when the chloride ppm level exceeds
a. 10 ppm

b. 50 ppm

c. 100 ppm

d. 500 ppm

ETP abbreviate

a. FATSTALHIA/Efficient Treatment Plant
b. FSlgeaia<ored=T/Energy Transfer Plant

c. TF] Tadiefeeatia/Effluent Treatment Plant
d. ST RATeTsRuTsie& =% 3/Engineering Tools & Plant




PA IR I ] o 12 1 £ - [ — TS F Bl
Principle of Rockwell Hardness is----------- of indentation.

a.877/Area

b. T&T=/Depth
¢.far=ui/Diagonal
d. =I1d/Diameter

PRI [A: | Ep— AT |/Martensite is --------- structure.
. BCT

FCC

BCC

HCP

ao o

23. ¥ | Fraq afderd § g & &y, goeht

With increase in the carbon percentage in the steel, its

a. FSILdTaEde/hardness increases
b. dEIATERHGSITA IS/ ductility reduces

c. FAeThaEsITdie/tensile strength increases
d. FATHAHT/Al of the above

24. SWG T 07 &9 F4T 8?2

What is the full form of SWG?
a. e amT A9/Standard Wire Gauge

b. ¥&=< faT T9/Standard Wind Gauge

T ST ST/ Standard weighing Gauge
. T | & AT T81/None of the above

oo

25, TAFSISH T TS [Tohehere o o STHTY foraT STTaT 872

Codification of electrodes is done as per
a. IRS:M-28
b. IS:814

IS:7280

d. =" ¥ FT d51/None of the

above

o

26. TAFLTE 1T "ER4112X" § 'R' TR F:aAT 8
In the electrode code "ER4112X" the 'R’ indicates



a. e grq FT LATA/UTS of weld metal
b. ®eTeo 2T2q FITew/Rutile type coating

c. YRFTIRF TUraT ao€/Radiographic quality weld
d. afeesr it ffufa/Position of welding

27. MIG/MAG aTeesT 7 oftfeest e --—--- T FAT &
The shielding gas in the MIG/MAG welding provides

a. §X0d dT< &7 §2&0T/Protection of filler wire
b. 9 I & s 70/Oxidation of weld pool

. 9o T FT §LAT/Protection of weld pool
d. IEETHMETET/Protection of welder

o

28. eI HohaT § Fiie ... TaTH FaT g

The Current in a welding process provides
a. TFNIT/gTT % TATg T 1L T4 % f*1/to cause flow of ampere/current
b. afee T % forw smae™ dT9/heat needed for welding

. TR 9% FTg I & o7 sfare/resistance to overcome ampere
. 9T T |TAT 9¥ 5 =0T/control over amount of penetration

o O

29. TTE Yeide T T ITAMT -----—- #T Tg=T o forw T ST aRaT
Die Penetrant Testing can be used for Identifying-------
a. #®/Cracks
b. =T grew /Blow Holes

HH/Seam
T¥ftfas®ed/All the options

o o

30. ATEUH:8662 ------- Hataq g
IS: 8662 pertains to

a. THeIMYe/Emulsion Paint
b. TUY2/Epoxy paint
c. Tehreye/Alkyd paint

PU 92/PU paint

Q



31. T FHLNL LT d Tl TETH o (oW SIIET TAT T gonmmmmmm

The element added to Increase corrosion resistance of steel is
a. Mn
b. V
c. Cr
d W

32. e T W I ot AfEF gt g------- ?
The Higher the Gloss value of Paint------- ?

a. STerh 3TET T ArTaT % g/More Is the % volume of solids
b. #H TR ATHUT ST ST TZTAT T % HTAT gRTT/Less will be the

pigment content & % volume of solids

c. @ Tohew it AieTs Ate grii/Higher will the dried film thickness
d. =+ft faeT @8t 2/All the options are correct

33, ATTeTEe WEX (AT ®F 7 . & 7 | TANT AT [1aT1 8

Nitrite rubber is specially used as a
a. 9T Yia<reft/Steam resistant

b. gfavret 7+i/Heat resistant
c. S yfa<refl/Water resistant
d. 9« gfa2refi/Oil resistant

34. ICF & =811 sft Tusrerer = forg seaarer B s arer i oo areTf
grarT g2
Grease used for wheel and axle in ICF 1§----------—- based?

a. UHTEe/Graphite
b. HfS=w/Caesium

c. TIf=¥®/Sodium
d. ferf=gw/Lithium

R I EC I ER E IR R G L 11 Lt pp— TaT Bl
Polyvinyl chloride (PVC) is a-------- material.



a.
b.

aHTeTee®/ Thermoplastic
JHTE T/ Thermosetting

c. Y9reT¥/Fibrous
d. TETAAE T ¥ qHA/ chemically active

Neopr
a

b

o

o

37. 99+

ene is a

. HEMET/Monomer
. EgfesTae/Synethetic rubber

. TiferuEa¥/Polyster

. TAH T FIe 9T 7E1/None of the above

EICTER T L B Eer ) g—

Specification for drinking water is--------

a
b.

o

. 1S-2062

IS-10500

IS-7310

TAHY FIs AT 981 /None of the above

38. SIS TSAT T IUT T9 F4T 872

What

is the full form of DRDO?

a. SMIET ¥ A forshTe H37%+ /Disaster Railway and Development Organisation
b. AT SATELTH 37 fas 1 ¥ /Defence Research and Development

Organisation

Yo ¥oTd ¥ fasTH T34 /Divisional Railways and Development Organisation

TEAT ¥ 3T T3 18 T35+ /Defence Rail and Development Organisation

39, TUHETTH &T I0T &9 F47 g2

What

a.

is the full form of ASTM?
YR FETEET I 2fFa3r Ug #efaed /American Society for testing and

materials
STTRTERT FHTST TX1eror 3fT ITHRAT /A frican society for testing and

materials



C. THTYHT FIETZEl |IT 2i U HIHEH ®IEH /American society for torque and

momentum forces

d. ?’ﬁﬁ_ch_v-r ATl BT SHTSAHTIAHRIEH /American society for tensile motion
orces

40. SIS ATRT TFAT hl AT @IS T ... FILT TAT AIMTAT SIT THAT 5

The internal flaw of the diesel loco axles can be detected by

a. HUTFTHT /Magna flux

b. STEr/DPT

c. 1ZOD

d. TegmEIa® &% /Ultrasonic Test

41. JEUHAT:14000 ----mmmmmm JEafaa g
ISO: 14000 deals with

a. IUrET 999+ /Quality management

b. TFTE<r Y&e /Environmental management
C. HTAT 994+ /Quantity management

d. ST Y&4+ /Energy Management

42, TAUE U TATIT aE BT STar g
NABL accreditation is given as per

ISO:IEC/17043

ISO/IEC:17025

ISO/IEC17034

. ISO/IEC/17055

43, I FAL o TAFHIOT F (or0 o &7 97 File #4782
What is the colour code of bins for wet waste segregation?

a. =<1 /Red

oo oo

b. g1 /Green
C. &T«T /Black
d. 9T /Blue

44, ST ¥d | T2 TSN % T4 THE HI 872
Who is the Principal Head of Stores Department on a Zonal Railway?

a. & ATFUT Tae /Chief Materials manager
b. 4T &7 TTERAT Teiel /Principal Chief Materials Manager



Cc. ET WX f9F% /Chief Controller of Stores
d. TET =X U4 %F {975 /Chief Controller of Stores and Purchases

45 T A TH UH FTFAT AT ?
What does CDMS means?

a. TeT Aaers T a9aers /ChiefDirectorMedicalSupervisor
b. &I T=OT ATIRAT Stefteres /ChiefDepotMaterial Superintendent

c. e BT =fercar Hﬁ&‘ﬁ /ChiefDepotMedicalSuperintendent
d. T&T Aaer a8yt 912 /ChiefDirectorMaterial Stores

46. SOP =T Il =97 F7 §?
What is the full form of SOP?

a. T¥S il T HAT /Schedule of Purchase
b. oTT<F T SIEHT /Schedule of Power

c. &g FT AqHAT /Schedule of Procurement
d. 9 HATA AqaTd/ Shop Operating Ratio

47 . F=fortead ® & 9 DAR 1968 & Tgd 2 & &7 § dal gl S1al 87
Which of the following is not termed as a penalty under DAR 1968?

a. fHam/Censure

b. =ATa«l/Warning

Cc. OTH &I TSAT/Stoppage of passes

d. et st g1fe % a7 & FE=1/The recovery from pay of any

pecuniary loss

48 ATATAATHT TTTAFTL HT T AT 6 AL ITRA Fid GHT AAard &9

o [N
------ RLIESS °h(*1|'°|||§'\’?

Disciplinary Authority while passing orders for imposing a penalty should

invariably pass---------- ?
a. &< & forw smeer/Orders for penalty

b. ST T AT<9T/Speaking order

C. M FT */Statement of order
d. IS A< AE1/No order

[anN

4
4

49. el ATATHTT 1948 F ATAT "TIEH" FT AT § UF A

o I T T A T T



A g?

As per Factory Act 1948"Adult" means a person who has completed his age of------ years?
a. 3TTgar au/Eighteenth year

b. Usg "TI/Fifteen year
c. HIeg au/Sixteen year
d. THE AT/ Twenty one year

50. FETHT ATATHTH F TgT T FIAATATH T AHATAL I 872

Who is the occupier of the Railway workshops under factories act?
a. WPO

b. CWE
c. CWM
d. Dy.CWM

51. FTLETET AT q § Forre= e a0 & 3 on?

Factory act was amended in the year?

a. 1987
b. 1986
c. 1988
d. 1990

52. Tt it Aee faTore]
Weldability of steel
a. FE T A o7 AT § g % A1 9@aT &/increases with increase in carbon and

alloy content

b. FEw ¥ frsr a7q ARl | g AT oe AT &/decreases with increase in

carbon and alloy content
c. TETHH® H¥=AT ¥ Taa/independent of chemical composition
d. =T feseq 921 2/All the options are correct

53.FaAH T il FHIHT FHLd T TAH AT TAG ol [RALT ~mmmmmmmmm T L
ST 8

Best surface finish upon cutting of stainless steel is accomplished by----------

a. oS g ®redT/Laser Cutting



b. sFURTE T FTeAT/Oxyacetylene cutting

C. TATSHT &fei/Plasma Cutting
d. TAFIE AT FHiAT/Electrode Arc Cutting

54. ferferiad ® & i &7 srfaareft aieq 272

Which of the following are non destructive test?

a. DPT
b. MPT
c. ST el/Zyglo
d. 9T % qHV/All of the above
55. T ST —-eeemme- HE@ATe
Pitting corrosion occurs in
a. SS

b. @taT/Copper
AT3eT #ia/ Mild Steel

d. segEi==H/Aluminum
56. EISTeT ATHRIEIE & ATAA § FIA ST FT A Fomrmmmmemmmme

Fuel Dilution in case of Diesel Locomotives means

a. g9 I ¥ =ATe 91 fHe=1/Mixing of lube oil in fuel oil

b. =rEFATE a1 # To+ I T AT/ Mixing of fuel oil in lube oil
c. T=FATE aTer 9«1 § ST I [=MT1/Mixing of cooling water in lube oil
d. 9T ¥ $o+ oo ¥/ Mixing of water in fuel oil

o

SYACETI I L) (E— A 9 FRAT STt
Crackling test is conducted on-------- sample.
a. d«/0il
b. IT5T/Grease
c. ¥d/Sand

d. =% ¥ Frs o AE1/None of the above

58. FEferiad & & i a7 TLIeA0 ¥ & qqA1 9% T S[rar g2

Which of the following tests are carried out on sand samples?

a. A« [FAWUT/Sieve analysis



b. THT & ATAT/Moisture content
c. 5 &t e fi/Clay content
d. F9¥ F T¥i/All of the above

59. &ITq el T AT TLNETT —mmmmmmm T SYTHA &

Ultrasonic testing of metallic components is based on the

a. A I¥9T9/Raman effect

b. drTrzafaea T9Ta/Piezoelectric effect
c. ufeeaT ysra/Peltier effect

d. JHT-smafas T9Ta/Thermo-ionic effect

60. o acat T FHEU e A ZraT 872
Which elements have ferromagnetic behavior?
a. ®gl/Iron
b. dtaT/Copper
C. YI/Mercury
d. Fferia/Silicon

61. FLATAT UF AT & TOTEaHT TR e F IeuTed & forw foRaT Srar 2

Cupola is a furnace used to produce------- .
a. FFT Ag/Cast iron
b. @TET Fia+ T&e/Plain carbon steel
c. dia & sy gT1q/Copper alloys

d. TegHIIH f/Aluminum alloys
62. Mwforfaa & & i 97 91 981 82

Which amongst the following is not a metal?
a. @rgi/Iron
b. #Te/Carbon

c. dtaT/Copper
d. =T</Silver

63. Referfera & & wr=ar 79 g2
Which is the softest out of following?
a. IAEATSE/Austenite
b. WXTge/Ferrite
c. HIHwaTEa/Cementite



d. =% ¥ FIE d51/None of these

64. IS: 814 F ATHTT, ATSE FIET TAFEIE FT FHIT HFEL =mmmmmmmmmmmem FHET ATRT
According to IS: 814, Coating Factor of light coated electrode should be
a. 1.25%1.35/1.2510 1.35
b. 1.36% 1.5/1.36t0 1.5

c. 1.51912/1.51t012

d. 0
65. TEATh SATATA T ATHUT F ............. F AT & &7 § gariud Bwar ST g
Endurance ratio is defined as ratio of..................... of the material.

a. TEUH T T HHAT/UTS & Fatigue limit
b. =T HHT i TEUH/Fatigue limit & UTS
c. TAUH T ATE.UH./UTS & Y.S.

d. =% ¥ FIE d51/None of these

66. T o T H AT I I AT T T =T 1T FHLAT 57

Which rubber serves best when it is to work in contact with oil?
a. WTEHfd®/Natural
b. ATEZTE</Nitrile
c. fafer=rta/Silicone
d. FARN/Chloroprene

67. Meterfed & & F1a =t afesw gt -39S TS T ST Fd1 872
Which of the following welding process uses non consumable electrode?
a. MIG
b. MMAW
c. TIG
d. =HH ¥ FIE T51/None of the these

68. TAHIHISL T TN 4 F ... T 779 % forg R smar 2
Elcometer is used to measure....... of paint.

a. =H%/Gloss

b. WAeT @TEe/Flash point

c. foeq #t A1aT/Thickness of the film
d. =AH ¥ FIT Tai/None of these

69. ST THTS ATF Sa-2.5--—---- B
Blast cleaning standards Sa-2.5 is:

a. goaT fae®Ie/Light blast
b. IXT %8 § sAT¥e AHI=/Thorough blast cleaning




c. dgd =T sATES FAIH/Very thorough blast cleaning
d. THH & #IT T8i/None of these

70. 9T H IATE-AETH o el 19Ut | fAherar &1 9 2T 2l

The form of failure occurs in materials subjected to fluctuating load.
a. WI¥/Brittle

b. d@=a/Ductile
Cc. 9h1/Fatigue
d. TAH ¥ FIE A%1/None of these
71. SAFETS T HITET FFEL mmmmmmmm F T graT 8l

Coating factor of electrode is equal to---------- .
a. I T =ATH / T qTL &1 3AT9/Dia of coating/ dia of core wire
b. T ATAT FT SATH/FHITET T ATH/Dia of core wire/ Dia of coating
C. THIT ATAT FT SATH + FHIT T =4TE/Dia of core wire+Dia of coating

d. T ¥ T dgl/None of these

72. A% FT & AT & (10 [IW F SATET A1 T ST UTRS ATHH STI
ERIRSIGIE
Which Radiographic standard as pe IIW is used for evaluation of weld
defects.

a. rar /Black
b. r=/Blue
c. g/Green

d. =% & &< 951 /None of these
73. ATSUH:3195 T HAT - T g
IS: 3195 is related to
a. gfere 5 /helical spring

b. afRam/wheel
C. gr/axle

d. =% & #E 9Ei/none of these

74. AMSUA: 4163 FT T --—-- Lk
IS: 4163 is related to

a. THTI9M e /inclusion rating
b. fRFTEaTTzsIeM/decarburization



C. @AY ILreAvT/tensile testing

d. =H ¥ &< q51/None of these

5-S is certification for

a. greEehiTdT/Housekeeping

b. {TeAT/Safety
c. TITILU/Environment
d. FSi/Energy

76. AT FieltheherT § ------ AT 5
GreenCo certification covers
a. ST §2erur/Water conservation
b. 3T @xeru/Energy Conservation
C. ITHYT T¥erur/Material conservation
d. T a«i/All of these

77. AT-F2Th ATZEH & (7 TS —-mmmmm

Indent for Non stock item is------- )
a. S-1302
b. S-1304
c. S-1356
d. S-6513

78. TrE # PL 5a¥ &1 07 &9 T 87
What is the full form of PL Number in Stores?
a. HeF AT #eq1/Price List Number
b. 3cTe geaT/Product List Number
C. ¥ Teq1/Price Ledger Number
d. ITE Fat "e&q1/Product Ledger Number

79. ST TTA9TT 3 T ATFAT o (T TTRT 6T ST a1eAT ST

The apparatus used for accurate estimation of water percentage is:
a. I ¥ T I9F/Dean & Stark Apparatus

b. Uehr-ATEH IUFT/Pensky-Marten'sApparatus

C. &% FeIHIZzZ/Bomb calorimeter
d. =¥ & #IE 981/None of these

80. Ted TRETE F Taex forad el Wetqt it @& auT gt § e wgeiai it {9 wwear grdi 2,

FEATdl €

Members of a family of an element that all have the same number of
protons but different numbers of neutrons is called

a. smzErY/Isomer
b. zHETE/Isobar



c. Fwardi/Isotherm
d. smzHEEM™/Isotopes

81. LAP T q07 &7 7
What is the full form of LAP.

a. FTEqT aa9 ¥ TFhTel/Leave on Actual Pay

. ATIRH aa9 9T Fgl/Leave on Additional Pay

b
C. 3Hd ddq 9X @é\l/Leave on Average Pay
d. i 9T 9T TaTel/Leave on Average Post

82. Tt T U1 ®T FAT 572
What is the full form of PTO?

a. AT fese seer/Pay Ticket Order

b. faeroTierRTT feshe ser/Privilege Ticket Order
c. AT fese gwara/Pay Ticket Offer

d. faerarferse feshe weara/Privilege Ticket Offer

83. UDM =T qUT &7 4T &
What is the full form of UDM:
a. oo f=2ur ar8dT/Urgent Depot Material
b. et giege/User Depot Module
c. Tere feuT #Aiea/Urgent Depot Module
d. STEnTERar fo9T weed/User Depot Management

84. faerer swarear adrerur § 7 form faforsar &1 syawr R strar 872

Which of the specification is used Brinell Hardness testing?
a. ASTME 8
b. ASTME 10
c. ASTME 18
d. ASTME 15

85. ¥t | fore @ o 10T g ondd gt 87

Which element results hot shortness in steel?
a.
b. Cr
c. S
d. K

86. F5rear fohaer arefy ST 2
The toughness is measured by:
a. v gre=w 7efi=/Brinell hardness machine
b. awgar g¥reror wefiv/Tensile testing machine

C. lzod ¥9Td WefA/Izod impact machine
d. Frs d=1/None of these

87. TS AT TIETATH FT I - BT &

Coating covering of High cellulose potassium is



E-7018
E-7016
E-6013
E-6011

Qoo

88. ZITET 3 sr=Tieh et it e Srede IHaT FT - F &7 F 97 SA7a7 8
Heat treatment process of heating and sudden cooling is known as
a. AT/ Tempering
b. #=RT/Quenching
C. T FLAT/Stress relieving

d. =9% & #I< 951/None of these

89. e g |, Uz foFe &9 § grar 8:
In Nodular iron, graphite is in the form of:

$ #ra/Free carbon

b ®q/Spheroids form
C. == &1 ®9/Flakes form

d. =¥ & #IE 981/None of these

90. T TAE % (T IOT ------ T &
Mechanical properties of natural rubber improves by
a. ElWﬁ%?H/Vulcanization
b. TTH *¥AT/Heating
C. 3S[ F¥AT/Cooling

d. Eﬁ@fﬁﬂ@/None of these
91. A FTAH TTAUTH H 2%  AFeF FTET -—-mmm F T H T 14T 8

In iron carbon diagram, more than 2%carbon is known as
a. TAAH Te/Stainless Steel
b. gredr IaFeiz Fﬁ?«r/Hypo eutectoid Steel
C. Breu¥ Teaeize wa/Hyper eutectoid Steel
d. FgrT @gr/Cast iron

92. TaT YSicere IS Fore fEuer Ureelies[E &1 y 37e7 S99 T8 % 9727 X J&7 9% i< ohar
ST 8-
Data presentation method in which signal amplitude is plotted along the y axis versus
Time on the x axis is—

A THA/A scan

C &A/C scan

B /B scan

D ¥F4/D scan

SR E 111 5 A fR— s sEFIaUg FT AT G

Viscosity is a measure of a fluid's resistance to

TdTd/Pressure

JaTE/Flow

dqTIHTA/Temperature
/Vaporization

coow

aoow



94, AT & gt Taifedl - LI o Toru T SiraT g

Preheating before welding is done to prevent
a. #w¥/Spatter
b. #a¥/Crater
c. &1 a¥/Cold crack
d. TAH ¥ FIE qE1/None of these

95. Tt TFFe (AT-A1=) T3S , IS 1757 F SITATE A9 T THET T —
In Charpy impact (V-notch) method, the standard test piece as per IS 1757 shall be -
a. ToI® avF 10 T & 971 55 et &&r 3fiT A @2/55mm long and of

square section with10 mm each side

b. 55 T Ffa7 3T 12 T I+ &7 % 977 a°7 @< F1/55 mm long and of square
section with 12 mm each side

c. 50 forefy <4 i =¥ @< T T ger 12 FEy % |A120/50 mm long and of square
section with 12 mm each side

d. =T ¥ FE A%1/None of these
96. ¥ T TIAT ------- FTIAT AT &

Rail Wheel is made of
a. =TEE TE/Cast steel
b. #FFT F1&T/Cast iron
C. TIAAH Tdr<T/Stainless steel
d. HTEes T/Mild steel

97. HIERIET T 329T -3
The purpose of Phosphating is

a. 9sitd</Decoration
b. |%5|$Ifl/Palnt1ng
C. ST H gTEAT/Corrosion protection

d. TH ¥ FIE 7%1/None of these

98. T ITST U Zn FHITEHT T&TH Hle il THAT Hl ----- % ®T H AT SAMAT 5

Process of providing Zn coating on steel pipes is known as
Fﬁﬁ% TeTZeT/Spherodizing

b fawfFer/Pickling

/Galvanizing

FeaaT ST,
d TH § #IT TAgi/None of these
99. fwforfaa & & 19 97 dc7 dlg & a1 {7y o7q werse ©aaresie 8?

Which one of the following elements alloyed with iron is a ferrite stabilizer?
a. fe/Nickel
b. #IHTS/Manganese
c. #Fra/Carbon
d. f&feria/Silicon

100. M & | I 97 greg Hela o ad AT g2
Which one of the following is a hydrometallurgical operation?



101.

102.

103.

104.

105.

a. /Roasting
b. T/Leaching
C. ST 9TTe/Zone refining
d. ITET/Smelting

TGt &l T | ST | &A1 AT F Ioid g -?

a. ATadT AALAT
b. AT AT
c. AT ST
d. TEET AT

ToREfT AT T et T T TISTATST o &9 | ST e &7 ATahTe ohe g
LECIT]

L
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TISTATHT AT

a o oo

Frerforfire # v T ST el o -8 e A 2

i
ATeft
it
ST
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1955 H ST TISTHATIT MY F TAH TLTeT i A?
a. ot St @7

b. . Fom
c. S ST, He=ET

d. HRAT ATIIT

AfaeTe & e dg=eg % Iaud fgal &l TSTATUT & &9 | of1 &\ a1 T g



106.

107.

108.

109.

110.

TISTATHT #hT 2 | e a9Te o & § Srar g ?
ED
T
T
. F
B & wetvrar e R & afia g 2
a. w8
b. Faw 9
c. Mawe6
d. =10

oo oo

TrSTATYT R Fa qTiRa gerr o7 ?
1950
1963

1976
1981

a0 oo

TISTATIT I AT HTARH I T FLAT G ?
a. g HATAA
b. ¥&a A
Cc. ST ATEHT
d. o s

Bt faw g AT STar g ?
14 e
13 e
15 ¥TFga
16 AFEaT
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